€

(0] Y = o S
T |8 8 2 |3
8 2 ol 2 @
] g 5 |2 7 g
s | § | £ |2 B
& = L =
z
1=y
g3 |3
N Q Q
(=] = ()
2 _.
=) =) % T
N- N X
g 39
s | d|F¢®
3 < —| N
=& 1msz2
N
‘% s 8 a8
. B NE|Q
T By a8k
(2] sTIN| 5o ‘cg
3 o =2c|Z| 5 ®
5 ¥ wg n =3
® .—57'< »>3 g 3
—_ c~g cn-U‘g
= N8> 29 |F e
S SE2Z| T8 |93
(= NZax| 2o |8 X
< X8 oS e =
[3) g_. | 53 3
4 SN (= N2 (s
e 5 (N o=8
E > > B
@ 9 Ix (=2
= B%
)
an 0 S
=
ol
z N| Z
Z
2 O
@ N
g
m
[

TAGAZYd ZSN3avl

¥z efey "|n ‘oamoibep 001-29
VMOLMIrOdd - OMOONISN VINMOOVYHd

o [92] N Pyl P °
sl e 2|lg 8§ & |8 |8 B 1:100
&N". k3 el a o) & o o |o
5 |2 % & g 3 s |3
@ o = @ -~ |o
o T o (ED. ?)- @ Q N
= = 0] 0] P N
2 Sz a2 |2 2 B
8 23 8 °
[%] 3 S 3
B > ]
a ° 3 |o
= 3 = |3
a 2,
= 1|
33
Sl |
ox
=Y
| H0,24
) 0,00 2,65 | 85,80 | 88,45 | Istn. studzienka bet. fi 1,0 m \LFD
S 3| 241 | 86,04 \
2,00 g 86,09 kable energetyczne NN \ \
230 | S 8610 woda DN32 14 '
3,80 86,14 kan sanit DN160
o N ~
()] ()]
o o
IN)
@ 9,50 S 1,76 | 86,28 | 88,04 | Studzienka bet. fi 1,0 m }
D
2
o)
w
o
o
17,40 86,44 kan sanit DN200 o
S|
318
56,30 87,21 kan sanit DN200 o
)
@ 59,50 S 1,55 | 87,28 | 88,83 | Studzienka bet. fi 1,0 m } .
[$)]
2
o)
w
o
o
71,50 o 87,46 kable energetyczne NN '
o | =
5| 8
@ 84,90 8 157 | 87,66 | 89,23 | Studzienka bet. fi 1.0m ;
e Tl 1,52 | 87,71
<
%)
N
()]
o
91,30 87,81 gaz DN65
kable telekom. | |r/r
91,70 87,81
w | .
_-h M
51 3
@ 119,30 g 1,51 | 88,23 | 89,74 | Studzienka bet. fi 1,0 m
~ ol 1,42 | 8832
<
~ S 9
J o
w < (2]
=\ | 123,60 3 0,98 | 88,75 | 89,73 | Wpust.fi0,5m
=
o 0,00 1,76 86,28 88,04  Studzienka bet. fi 1,0 m
» 3| 147 | 86,57 | 88,04
g1 2.\
S| 8 _5‘ S
=\ | 380 3 1,00 | 86,95 | 87,95 | Wpust. fi0.5m
oo
"
o 0,00 1,76 86,28 88,04  Studzienka bet. fi 1,0 m
£ 3| 142 [ 86,62 | 88,04
>3 Q
o 5l.\@
315 | ©| © S N 86,94 gaz DN125
= 4,00 8 1,00 | 87,02 | 88,02 | Wpust.fi0,5m 1 10,90
©
oo
k=
N
o\ 000 1,76 86,28 88,04  Studzienkabet.fi 1,0 m -
S T| 154 [ 86,50 | 88,04
Q
212 \®
S| 8
S
2\ | 560 8 1,00 | 87,06 | 88,06 | Wpust.fi0.5m ‘ 10.90
S ‘
©
k=
>
"
o 0,00 = 1,556 87,28 88,83  Studzienka bet. fi 1,0 m - ‘
2 600 & 22 113 187,70 88'83‘ kan. sanit. DN200 ‘ xR
)15 100 8785 8882 ~WRustfidSm o =
3 8
©
w
"
o 0,00 1,65 87,28 88,83  Studzienka bet. fi 1,0 m -
@ 3| 141 [87.42 8883
>3 Q
8 S 3 3
4,00 8 1,00 | 87,82 | 88,82 | Wpust. fi0,5m 0.0
™
o]
(2]
©
N
"
o 0,00 1,57 87,66 89,23  Studzienka bet. fi 1,0 m
> Z[ 147 878218923
w| 3 Q
818z \8
2\ | 3,9 8 1,00 | 88,21 | 89,21 | Wpust.fi0,5m [ 10.90
> {
o 0,00 1,567 87,66 89,23  Studzienka bet. fi 1,0 m
e T| 142 | 8781 89,23
I9)
2,40 'i g > 88,00 woda DN110
290 ©| Pl O 88,04 kan. sanit. DN200
=\ | 4,10 8 1,00 | 88,14 | 89,14 | Wpust.fi0.5m
IS
- 0,00 1,57 87,66 89,23  Studzienka bet. fi 1,0 m
- T| 1,39 [ 87,84 | 89,23
Q
260 | o | ~ 3 88,02 woda DN110
325 | @1 8 88,07 kan. sanit. DN200 FP
~
5,60 8 1,00 | 88,23 | 89,23 | Wpust.fi0,5m [ #+0.90
o ‘
oo
~
w
w
"
o 0,00 1,57 87,66 89,23  Studzienka bet. fi 1,0 m
&) 3| 152 [8771]89.23
%)
2,20 > 87,73 woda DN110
2,75 o 87.74 kan. sanit. DN200 g}
=
6,35 ~8 ] 87,77 kable energet. NN
12,00 8 145 | 87,83 | 89,28 \




